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. INSTRUCTIONS FOR CANDIDATES
1.

Please do not open this Question
Booklet until yQu are told to do so.

Candidate must fill up the necessary
information in the space provided
oni the' OMR ‘Answer Sheet before

caommencement of ‘the test.. .

For marking the correct . answer,
darken one circle by black or blue ball-
point pen only. Please do not' mark on
more than one circle. Darkening on
more than one circle against an answer
will be treated as wrong answer.

Do not detach any leaf from this
Question Booklet. After the examina-
tion, hand over separately the entire
Question Booklet. an:

the Room Invigilator. .
Each question carries 2 riarks. There
is no ‘negative tharking for ‘any wrong
answer. e -

'

Possession and-. use of C_alculator,
Mobile Phone and Pager is prohibited
in the Examination Hall.

For any discrepancy in the translated
version of any question in Hindi, the
English version of the question will be
valid.

You should return the Question
Booklet to the Invigilator: dt the end
of the examination and should not
carry any paper with you outside the
Examination Hall. -

1 Answer. Sheet to -
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! 2 2. 3.
- i +ax“y+b + =0 ‘o
. w@ y+tboxy- +y e

If the equation o

represents three lines, two of
which are perpendicular to each ™

other, then what is the et;uatlon T

of the third line?

) y=bx

) Y= —x

2.

7 =B xb dre three vectors, then
"'which one of the followmg is

correct?

LEREE v A s P

(a) a1s parallel to qxr

(b) a is perpend1cular to q %7 f

.\(c) ais parallelto rxp

/14-B -

(d) a is perpend‘ioiﬂaf to X p

T
SR EN

o

o
g

1+ 1)2
3. Ifz- .

, then Re(2) =

W b

()
@ 3

u (d) “'None of the above

.4. The order of an element of a;

group is

(a) smaller :than that. of its

inverse

| (b) greater than that of its

inverse
(c) Same
. inverse L
(@ Nome of the dbove

‘a8’ that of its

. if H, K are two: subgroups of a
group G; then’ H‘K isa subgroup.

- of @yrif

(a) HK = KH o
b H=K

o) HK™! *¢
{;gIdI H’l&ﬁ‘ -

6“.7""A mappmgf ft‘Om a group G into
~ a group G"1s said to be a
‘homomarphism of G into G, if

(@) flab)=fla)- f(b)

. f@
&) flab)=%2

L)
© fan= 5 a)

@ sam=1

e ot o el B IR PR

e e




1.

k’x

aﬁmﬂm

3 +ax? y+bxy?+y3=0

i Yareit ) fref w2, Rl
WER T §, ?ﬁ?ﬁv&i@tmm
R ’

(@) y=ax

) y=bx

Q) y=x

d y=-x

Ife 'p?=bxc,} ?;’=?:’x,3 aun
7 = & xb @ altw & W frafrRea &
qA FF-U1 & qE 7

(@) AETFREGXTF

/14-B

(b;»a‘m-étax?m .

(c) _a'm%‘?xf)'%

(d) o= R ?x;ﬁm

- (a)
(b) -

ol ‘40;’ i

PN
o 3-i

A Re(z)= .

ool'- (3,1

© -1

@ mﬁ?ﬁﬁ%ﬂﬁéﬁﬁ |
T 9% % Th a9 A R 3

(b) T SR A 7@

fo) T aREd F TUH

(@) A

. IR wg Gas:-afm"n, K% @&

. HK 99§ G %1 0% TEg & 3FR

(o) HK =KH .
) H=K

() HK'=9
(@) H™KH = ¢ o

.@sﬁﬁwﬁvﬁ@m Gﬁqaam

wE G’ iR, G'ﬁ G R wHHE
mwﬁ

(@ fiab)=fia f(b)

f@ -

i) (b)
( f(ab)— fa

@ fafb)=1
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7. If V(F) is a ﬁmte—dlmensmnal .

vector space; then any two’ bases

of V have

(a) not the same number of
elements v

(b) the - same mimber of
elements Y

(c) infinite number of e;lements
(d) None of the above ’

8. If Wy and W, are two subspaces
of a ﬁmte—dn:nensmnal vector
space V(F), then ‘

(a) dlm(W1 + Wz)
SV ;.=;--d1mW1 'hdJmW2
(b) d1m(W1+W2) dimW,;

X b

+ dim W, - dim(W, N W) |

- {c) d1m(W1 +Wy)=dimW;
) ) + dlm W2 + dlm(Wl f'\ W2)
"(d) None of the abOVe o

9. The solution of the system of non-
homogeneous linear ' equations
in n unknowns x,, x4, X3, ..., X,
by Cramer’s rule is

(a) x; —%i—, where A; =0
A it
(b) xi-;X’ where A#Q
Al
(c) x; =— A whereA #0 Az0

(d) None of the above
10. The acute a;ngle between the
lines y=3 and y J_x+9 is
(@ 30°
(b) 60°
(c) 45°
(d) 75°

/14-B

11. Equation of the ellipse whose foci
are (4,0) and (-4,0), and e= % is

. 2 2
oy X2 y?
Wty
2 2
X~y
A =16
b &+
2 2
X y
—_— -——-=32

(d) None of the above

12. The equation of latus rectum of
the ellipse

9x2 +4y? —18xf8y~23¥0
is |
(@ y=1J5
(b) x=1V5 .
L fehy =125
(d) x=-iiJ§

13. The points P(0,7,10), Q-1 6,6)
and R (-4, 9, 6) are the vertices of

(@) an equilateral triangle

(b) an isosceles right-angled
triangle

(c) a 'sea_l‘ene tﬁangle

. (d) an isosceles triangle which is
not right-angled

W
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7. AR V(F) o ®fm Ref: afw wfl

R, @@ V& FiE 7 amuR #

() W W s T §
(b) WHH TEAF ANGET §
(c) mfid s §
(d) 3ofw & QA T

8. IR = uiifm forfty wiew awfd v(F)

ﬁﬁmwlé»ﬂthg a

{a) dim(Wl + Wz)
‘ \ o ‘-dlmW1+d1mW2

‘ (b) d1m(W1+W2) d1mW1
+dunW2 d1m(WImW2)

(c) dim(W;+Wj)=dimWj.
+dim Wy + d1m(W1 NWj)

| (d)“wgiﬁﬁﬁaﬁiﬁ

9. sl Werm whww fam, n
HIA@ - x5, X9, X3, - ,xn ﬁ %l T,
mﬁmm% |

(@) x; = @rﬁA =0
(b) x,_ ,Grs'rA;eo

1 xl-%,w A, %0, A;eo
(d) 394w B Y HE

10. W@t y=3 3 y=3x+9 F d=
: WW%

(@) 30°

(b) 60°

c) 45°

(d) 75°

/14-B

* 1%, ey el o wied (4 0)

W(—%O)Ww%%;%“
Lg__ .
(a) ) 8—'16

2 2
X
—gZ =16
B +i-

Q‘ -

2 -2

X Y

X Y o3
O g+g=3

(@) 35w % A

12. <dga

9x2+4y? -18x-8y-23=0
Fafe
@) y=25
Av "(b) x= +~/’
@ y- 1+~F
(d) x=_¥li'\/—5-:\"

13. frgd P0,7,10), Q(-16,6) @
R(-4,9, 6)¥ﬁ‘§%

) g
) aReg wR By %
(c) T Ty e

(d)qaswﬁ;a@ﬁga%ahm
T 2
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14,

15.

What is the: ‘minimuny’ value of
the function |

fln =[5t~ 1)(t—2)dt. .
where x >07? :
(a) 1
(b) 1/2
() 3/2

d) 5/2

What is the areé. of tﬁe surface of

~ the cone genera\tegikL by revolving

the line segment y=2x from
x =0 to x =2, about the x-axis?

(@ 32n/3 |
(b) 161!/‘.3 ‘ coy

(d) 8Br

16.

17.

/14-B

What are the’ asymptotes of the
curve

(x+4y+1)(x 4y+1) 47
(@ y=14x+1) -
(b) y=+t4x
(c) x=x4y
(@) x+l=t4y

If T ey
[oFtade =ALCf e e, o0

then what is the.value of A?

(a) b a
(b) a-b
€ e¢ .. RS
@ e

st
18,

19.

-’Wﬁa‘t is'the valueof the integral

BGIeH ‘“-J_ P ‘
\ f?;t&x;*-&\dx’?
(@ 1/4

(b) 1/3°

(c) 1/2

@

Lety,andyzbeanytwo_

solutions ‘of a second-order

linear non—homogeneous ordinary

differential: equation and ¢ be an
arbitrary - con§tant Then, in
general T -

(a) 'yl + y2 is 1ts solutlon but cyy
is nét: : ~

(b) CYy is its solution, but Y1+Y;
_ is not

U(c)' both y1+y2 and cyl are its

20.

solutions

(d) neither y, +y, nor cy; is its
solution ‘

What is the éoluﬁon of the

¢ differential equation -

x(%) sylny-lnx+1)?

@) yeae

(b) y+xe* =0

fc) y+ce*=0

(@ y=e=

”»>w




14. & SRR ¥ 18, GUHA

£ = ie- e~ 2t N S 2
att . . - b
0, a;fm .
g e %1 1 9 87
(@) 1
(b) 1/2 S | (a) 1/4
€ 3/2 ) 1/3
(d) 5/2 © 1/2
15. x=0@ x=2 7% @ y =2x % @S ©od1 o
H x-38 F yRa: AW F » SR :
gs:s[%mm%?w | T 19, 97 @R B fedt B-wida Was
, 3 " IR AR R WSO % A
(@) 32rn/3

; Wy1wy2§3ﬁtc@ﬁﬁ§3ﬁt
(b) 16n/3 - . %laﬁm :

Z) 8J§: - (@ y1+y2 mﬁ%{,_\m_cylw
| ) oy e, Regyp+y,
16. 5% | , (o) Bt gy +yp T cyy B 3 &
’ ~ (x+4y+hx-4y+1])=4 i
%mwg? Y - :l ) ;' (d) qﬂ y1+y2 W e ﬁ cy1
(@ y=14(x+1) N ga% o
b) y=t4x .- ' _ Pl SOTIET
() x=t4y - o | 26; ITHET ww o
.(d) x+l=tdy / x(-gxg):y(!ny-lnx*l)
17. 3%, T .
e W A
[2fradx <A fix / c)dx, c=0 |
@ A WA R - o
@ b-a (b) y+xe°"=0%
) a-b ' (c) y+ce* =0
o) ¢ : b
) 1fe . (d) y=e*

/14-B 7 [P.T. O.




21.

22.

What is the singular $olutien
of the differential equation
p=In(px-y)?
(a) y=cx-€

- (b) yv= x+xlnx

() y=xlnx-x

(d) y=xlnc-c

If a, b, ¢ are the roots ‘of the
equatmn

X3 = pxZagr- r== (s 358

what 1s the value ot“

m+mw+q¢+q?;

M)pq T
“®) pq+r

e} pgF o R

*(df pq/ R R

23. Let T: :R? 5 R? be defined by

T(x y) (x+y, x= y) Which one
of the following is the matrix of T
for (0,1) and (1, 0) as a basis for
both domain and-range-of T?

1 1)
1 1
11y
(b)
~ 1 1Y
1 -1
(o)
11
1 1
(d)
—1 1 t

/14-B-

24,

25.

| 3 4
efied)

What is the inverse “of ‘the
permutatlon

123 4
?
‘3“4 1 2

(1234}

(@) «
4 3 2 1

\
—
N

,
N
[
H

3

\
—

- N
w
D
e

(c)

_
N
w
N

(d)

Given
3 o - Lo
T AxB=C and BxC=A
Consider the foll oWing -

- =2 = ) :
1. A, B, C ' are mutually
orthogonal.“ - - .

- -
2. |A|=|C]

s »
3. |B|=1

Select the correct answer using

~ the codci given below :

Code :

(@ 1, 2 and 3
() 1 and 2 only
() 2 and 3 only
(d) 1 and 3 only

o, A




21

TG m p= ln(px -y} W
- Rt

_(a)ycxe‘

(b) y=x+xlnx
(¢ y=xln-x‘—x

() y=xlné<e

22,

23.

ﬂﬁWMWx-¢x+g-ro%
T a, b, ¢ &, @A (a+b)(b+c)lc+a)
mmwa?

(a) pq r

(b) pa+r

(c) par

(d pgq/r '

mzﬂﬁq%a‘ R2 - R2 &t wiemr
T(x,y)=(x+y x~-y) &1 3R (0, 1)
awn (1, 0) freeR T % W= R ww
% g wwr W §, @
ﬁﬂ%ﬁgﬂﬁ%m-wmrmana{s
2

(@)

(c)

@

/14-B ’

mwﬁﬁﬁ’/

e s ey
3412;

1 Yo Freaforiea & @ - 87

@

 @)&»

.,,ﬁ‘“?

(1 2 3 4)

(@)

(1 2 3 4)

(b)
\2 1 4 3J

(1.2 3 4\ -
3 2

-
EoRa

(12 .‘_‘43‘:,4\: .
4

- @f 1N%

AxB= csﬁthc‘mZ
Freafefya w frar At

1. A 'B cmmﬁm%u

2. 1A1=181

s. 1B=1

A Py e g # WO W
W

(@ 1,233

(b) ¥ 12

(c) FA2M3

(d) Fas 133 -

[P.T.O.




26.

If the vectors AB = -3+ 4k apd
XE =51 ;2:}7+ 4]:: are the sides of
a triangle ABC, thqn what is the
length of the medlan through A?

o) \T&

) V18

27.

(e) 29
@d J7

A satellite is launched in a
direction parallel to. the' surface
of the earth with a velocity
of 18820 : miles/hr from an
altitude of 240 miles;:
satellite reaches “its . maximum
altitude of 2340 miles, what
is the approximate velocity of
the satellite (radlus of the earth =

3960 miles)? . . ..

8-

/14-B

(@) 11000 miles/hr - -~
(B) 12550 miles/hr

(c) 16550 miles/hr

(d) 14550 miles/hr

‘What is the imaginary part of

(sin20 + icos26)* ?
(sin® - icose)s
(a) sin118
(b) cos110
() -sinl16
(d) -cos118

JIf the.

10

30.

31.

‘29. In.group theory, which one of the

following statements. is -eorrect?

(a) Abelian ;‘groups ‘may have
non-Abelian subgroups

() Non-Abélian' groups
have Abelian subgroups

(c¢) Cyclic groups may have non-

cyclic subgroups

(d) Non-cyclic groups‘ cannot
) have cyclic subgroups

> P 5 o
If a, b, ¢ are coplanar vectors,
then what is the value of the
determinant

- - —> 2> .
a-a a-b a'c
22 33 57
> 2 2 7 o 9
~ . |c-a c:b.c-¢
(@) 0
LR
..)
{c) b+b.2+2.2

For what value of A, will the sum

of the squares of the roots of the

equation x?+@-A)x+1=A have
the least value?

(@ O
(b) 1
() 2
d 3

inay '

AW T e

T A ORI "

[ i

R




.26,

aR e ..4ABC ﬁ mﬁ R
'A—Bf.—31+47€ T wRw
AC =5i- 2%4k% ?ﬁA:@W
§§W@Wﬁmﬁmm |
(a) J‘ o

(b) J_ _»

@ ¥

27.

@mlgﬁﬁ%gs%mﬁmﬁ

118820 Wiet/ov2r & A Q24w

A S AR P o 21 AR

se st it S 2340 e
¥ (7o i B = 3960, )7

(@ 11000dwrfauar *
() 12550 e fave
() 16550 fiw/ava . . -

‘(d) 14550 tﬂa/um

28.

(sin28¥idos20)*
(smG lcos 9)3

asrmmﬁmemw%? o

/14-B

(a) sinl10

| (b) cos116

(c) -sinll1@

(d) -cosll0

29,97 fera § Frafafea wmAt & @

B ERUR R T

(a) AEfE e % IR-smafEm

wﬁm%

(b) R wEl ¥ mefew
ITEE. B TR §

’*@wmmﬁmwmmma«

31.

o &
(d)ﬁtaﬁam%aﬁww

- 2 9 7 o5 o
ta-a a-b a-c
5.2 BB b2
> = 2 2 5
¢-a ¢c-b c¢-¢
-1 7
@o
(b) 1

x2+(2—>.)x+1.~=‘>;
¥ weit % il A 2w e
@ o o
() 1
(¢ 2
d 3

[P.T.O.




- 32.

If f(x) and g(x} are twofnctitns
continuous everywhere-and

then F(x) is continuous every-

. where except at which of the

following points?
@ 2

(b) -2

| (é) +1

33.

(d)

(d) =

In a simple harmonic motion of

amplitude a and Pperiod T, what

does J:vzdt equal to (v being
velocity of the motion)?. |,

na? -

@

€ 5

/14-B.

12

R

=88,

. Which oné' of the following
differential equations has the
same order and degree?

d*y (dy oy
dx——‘*+8(5) +»5yr-e

3 N2
(b) 5(1}{) +8(ZZ+1) +5y=x3

372/3 3
(c) [1+(%) ] = 4(3"?)

0 v-s() 2T

(@)

Which: of the- féllowing -are the
orthogonal trajectones of the

curves A=r? 2 cos0?

(@) B = rgin%@ °

(b} B=r? sin@

¢ B=r?sin®8

- (d) B=r’sin®

36.

If the foci”of the ellipse’

2
.._+_y-_=1
16 p2

and those of hyperbola

x? ‘y2 1

— e—— T i

144 81 25

coincide, then what is the value
of b2 ?

(@ 1

(b) 5

) 7

(@) 9




- 82. AR flx) M gl) A vl Wem wo ¥

E.
Flo = lim £00* xz"g(x)
X—pee 14 x2n
A Fix) o8 g=a § Rrama Al
% 3 o g/ Regal 57
@) 2 |
b -2
DR
@ =

: 33.

/14-B

TH w mzﬁfrﬁt 3, Frewr s a
R st TR, [] v2de & A R
2 (Sei s van )

(@) ——

b) —=

) —%

(d)

13

. 36.

34. fafofga sewe wieel & @
A & W Y R wm@ ek
Rt It w @ 27

4
(a) Zx‘g+8(3§z) + 5y=¢e*

d® (dy | )2
SR FORUE R R

(d) y=x (:ﬁ)ar (31) +1 -

35}335‘4 r cosﬁ%‘@'ﬁﬁﬁ"ﬁﬂm
Pt 3 @ AA-w &7
(@) B =rsin2%6 .
(b) B =r2sin6
() B=r?sin%0 -
(d) B‘=rr3sine

wﬁ?ﬂﬁqa

e
16+b2 =1
x? y2 1

144 81 .25
ﬁm@’é’r% ?ﬁbzmmw
7 :

(@) 1
(b) 5
€ 7
(d) 9

[P.T.O,




37,

38.

'.whose ‘generators are parallel

39,

/14

@

Equation of planés~in .i#he
intercept form is -

=
<

I
+

.\
&

alx Qlx
ol o

g s

olN o

S+

The equation .of the cylinder

to the line x = -‘yz- = —;- and whose
guiding curve s _the ellfpse
x?+2y%=1,2z=01s
(@) 3x2+6y? +3z2
S -2xz-8yz~3=0

(b). 3x2 +4y? + 622

, -xz-yz+xy+5=0
() 3x2?+6y?+822 T
| -4xz-Tyz-6=0
(d) None of the above

The normal vector ‘to the plane

x+2y+3z-6=0is.

i+2j+3k
V14

1+2j+3k

® =3

-i+2j+3k
V14
None of the abm}‘e

(c)
(d)

N

41.

N

(o T3 B fwwnn oo
(c) 10«/-:; sq. units/sec
T e N R

3 , o

n—ee(n+1)1+1 " Wi

e

f the abdve{

The sides of an eq};i‘lateral
triangle are increasin“g‘at"'t‘he rate
of 2 cm per sec. The rate at
which the area increases! when
the side is 10 cm is

(@) 3 '8qQ. units/sec J

(b} 10 sq. units/sec

T g i OEY RE

(d) 10 scil’ wunits/sec
J3 T

42, fg'/4log(1+tanx)dx= R

@

n .
—log?2 R
@ 4 o8 o

Elog2

@) 3

(c)

T
—log(ta
3 og(tan x)

T
T 1og3
g%

Gy




37. iV ¥ § WA H aifieRor 8

38.

39.

/14

(a) £+—y-+-z-=1
a b c

Yo Fraw W, }@,x=%=§ ¥
TR & i Rrawr mafen @, ddga
x2+2y2=1,2z=08%, FMERFIL
(@) 3x2+6y?+3z2
—2xz-8yz-3=0
(b) 3x2+4y2+6z2
-xz-yz+xy+5=0

(c) 3x2+6y?+822
-4xz-Tyz-6=0

(@) 3w F QB

A x+2y+3z-6=0 W A=
afew ?

1+2j+3k

(a) R v
1+2j+3k

() 14
-i+2j+3k

© —hs

(d) 3TE F & B

15

40. lim

. 41.

n!+1l

noe(n+)l+1

@ o

() 1

(c) o

() AP
THaTg Fongst &1 s 2 Fo ﬁo-/ﬁm
f R/ A FgaT &1 I g 10 Fo o
2, it &t e o @ wg?

(a) 3 o g/ Qe

(b)) 10 ¥ v e

42.

(c) 10¥3 i o e
@ 75 i vk
15/ *10g1+ tan x)dx =
(@) %log2

(b) Zlog2

(o -glog (tan.x

L
d) —log3
(@ Zlog

[P.T.O.




43. The area of the region bounded

a4,

45.

/14

by the curve y =2x - x2 and the
line y=x is-

(@) ¢
M) 3

(€ 3

(@ 3

The singular solution " of the
differential equation

Ll , ;
(ﬂ) —x§+y=0_
dx dx

@) y=2x-c

(b) y=6x-c?

() y= %

(d) y= -’-C:Gi

The address which is used in a

program is called

(a) logical address

(b) physical addresé
(c) virtual address
(d) None of the above

46.

47.

48.

49.

decimal
binary

Conversion of the
number 41 to its
equivalent is

(@) 11101
(b) 1000

(¢) 100101
(d) 101001

Memory and I/O devices are
connected to the CPU through a
group of lines which is called

(@) CRT
() LCD
(¢) BUS
(d) LED

Third generation computer was
introduced in

(@) 1946-1954
(b) 1965-1975

(o) 1955-1964

(d) 1991-2010

OR Gate is also known as

(a) XOR Gate

(b) NOT Gate
(c) Inclusive OR Gate

(d) NAND Gate




. 43. F y=2x-x2 IR W y=xFQ

44,

45.

/14

AMEE AT H AIHA B
@1

o

(b)

B

(c)

(@)

Nl

EHS FHIH

2
(%) —x@+y=0 _

w Rttt
(@) y=2x-c>
(b) y=6x-c

2

© y==-

4

x2

(d) Y=

7% Q3w et o A I @},

?

(@) iR A

(b) ﬁﬁﬂwf@v

(c) wger W

(d) 30 & A H T

- 17

46. TWEE €& 41 1 fienwd qw

47.

48.

49.

e 3
(@) 11101

(b)
(c) 100101

1000

(d) 101001

il @ik 1/0 fearm, TRt ¥
g T CPU ¥ 91 8, Rl =gt s
?

(@) CRT

(b) LCD

() BUS

(d) LED

el SREE B FE A A AR
T o

(a) 1946-1954 &

(b) 1965-1975 %

(c) 1955-1964 &

(d) 1991-2010%

OR e 3@ W ¥ oft s e
(a) XOR W2

(b) NOT %z

(c) W‘dORﬁE

(d) NAND 72

[P.T.O.




850. The rank of the matrix

51.

52.

/14

2147
36 21
0015

is

C(a) 4
(b)) 3

(©) 2
d 1

If Ais a square matrix of order n,
then A.(adjA4) is equal to

(@ |Al

(b) 1AI"

1
(c) Al

(@ 1A

Radical centre of the three circles
x2 +y? +2x+17y+4 =0
x2 +y? +7x+6y+11=0
x? +y? - x+22y+3=0
is
(a) (2 3)
(b) 3 2)
€ 32
d 2 -3

18

54.

. Ifeand e’ are the eccentricities of
‘a hyperbola and its conjugate,

1 .
then —2+—,12— is equal to
e e

(a) O
(b) 1
(c) 2
(d 3

The condition that the cone

ax? +by? +cz? +2fyz+2gzx + 2hxy =0

may have three mutually
perpendicular generators is

(@) a+b+c=0

1 1 1
—+—+-=0
() a b c¢

(c) f+g+h=0

1 1 1 :
d =+—+—==0
f g h

55. div@xb)is

(@) a-(curl Z)," g (curl @) ‘

(b) 3-(divb)~b-(diva)

(c) b-(curl @)-3-(curl b)

(d) None of the above

LR




| 21 47 L oer | 53 AR e 3 o T fEE o WH
50. 3621 wmaﬁmaaaaﬁzé?ams‘i a
. ' e
A Al - m;%.;...‘.;
(@) 4 @
(d) ] (c 2
sx.zrl%A nmmaﬁﬁ@ms’r L
A(adJA)ﬁwf%fftqa%m% 54.ﬁqnqm§aaaﬁqwmm€i
@Ay T ey |
, ' ax +by +cz? +2fyz+2gzx+2hxy =0
(b) |AI" : L
o ) (a) a+b+c=0
oL
IAI 1.,1.1_
v (b) a+b+'c 0
(d) |'A|n+1 _ ERCEI N
I (€ . f+g+h=0_
52. aﬁ o (d) _1_+l+_1_=0
x?+y?+2x+17y+4=0 f g h
x2 +y +7x+6y+11 0]
x2+y? - x+22y+350 55. div(@xb) 2
w1 Foft 373 8 (@) @-fcurl E)—B-(curlla’) )
(@) 23) ® 2@ Z) > i 2
. a-(divb)- b -{div ¢
®) 6.2 1
€ (-3,2) (c) b feurla)-a- (curl b)
@ @ -3 @ mﬁaaﬁgqﬁ

/14 19 - [P.T.O.




GOER LG

56. (“xb) (*xd) is ,

(@) @: )b - d) eb c)r’ )
b) @ -3@-d)-b-dF.d)

© @ c)(bxd) (XC)(b d)
| '(d) None of the above lw

PR

87. If a, l_;, ¢ are COpl an a?f‘i then
[a b C] is ,
) -1 .
c O
(d) 3

58. The value of

R
. x+x24+x3 4. 4xt-n
lim

x—51 x-1

is

(@) n
n+l

(b) =

(© nn+l) . Cauing o

@ nin-1)

/14

§89. If
.
\/x +a? +4x2+b?

S fl=

then f'(x) =

X

(@®-b7) I/==

(a)

) ——= ——
@2 2 epl)

E; o Y %
T RO e e Tt PO
P 1 PO

X

(c) @-p9)|

(d) (a®-b?)

1 2
Vx?+a? x? +b2]
60. Value of

f . (sin x)! ldx’
is O

(a} ;__.._‘:....I.—;- |




56. ("xb’)-(,*xét’y%rﬁ’ﬁiqe S 59. IR

‘.12_'_'“ N
@ @: c)(b d) (b C)(_s d) f(x) \fx +d’ +\/x '+ b2
.Eh'i ’
b @ c)(" d) (b - d) )
@ % |1 1
6@ cl"’«’“’k"(““*"c*(b.a"dl @-b)[Vx?+a2 Vx2+p2

. @ wzi-vsﬁﬁaahﬁ

I ' x

57. aﬁa, b, cmmii a‘t[abz’]%

() -1
Q0. AP
(d 3
\ 2 B am by
88, lim XFX X"+ 4 X ‘n%mm

x=1 - ox=1 ‘ ) ‘
% . I , el EST 60. I_I(Sinx)l‘ldx= ’

@ o 108642
‘ . N 1197 5 3
{b) P_T_.l. v
1086 42 =
i P Te7s 32
- "‘"Qfl.’
B (c) -1
e dn=1
. @ 2 (d O

/14 . | =3 | | [P.T.0O.




61.

If

Jof badx = [ fla—xdx

then the value of

J’gﬁ(Sinx)dx‘ ey

is

(@) nf}flsinx)de

o g[g’z flsin xjdx

@ Ghfeinger

62.

(d) [}xf(cos x)dx

Particular integral of

2
4y, a?y =cosax
dx2

is

. x . T
(a) —sinax

63.

2a
x _
(b) %0 cosax
(c) 1 sinax
2a
1
(d) —cosax
2a
Jn

Series Y, - is -

n°+1
(a) convergent
(b) divergent
(c) oscillatory

~ (d) bounded below

/14

64.

65.

The real part of exp(cxpiej is
(@) veckose‘ S
(b) €°°° sin(sin6)

() €° cos(sin)

d) e cos(eos)

If z, is conjugate of z and 2z,
is conjugate of z3;, and

i 21, 24, Za, 34 € C, then

( (2.)
(a) arg .z_l)=arg ..z..é.
22 \Z4
(o
zZ 1 Z3
(b} arg ——)#arg -
\ %2 - \%24)

(c) arg(z,z;)=arg(z32,)

(d). None of the above

66. A body is thrown vertically

upward, then

(a) time of ascent # time of
descent

(b) acceleration of the body is
Zero

(c) at the highest  point
acceleration will be zero

.2
(d) greatest height attained = g—g




61. Eﬁ | vooge

62.

63.

/14

o fgf(x)dx=fgf(a— x)dx N

GL B
5:xf (sin X)dx =
(@ =fyfisinx)dx

(b) ‘gfg/2f(81nx)dx

(c) ggf(sinxjdx |

(d) [3xflcos x)dx

mmﬁm

d%y- .
"‘—g\'l' a2y =cosax
dx

mﬁﬂwm%

X,
(@) 5-sin ax;

(b) X cosax
2a .

- () —l-sinax\ ’

2a

(d) Elacosax |

MZ

n +1.
(a) et
®) swwd
(c)'_ﬁ'ﬁ'-‘ﬁ

(d) = q iEg

23

84, explexpie) 1 e o &

(a) cose -

| (b) e°°sesm(sm9) '
c) e°030 <’:os(sfin 8)
(d) e°s® coé(cgg 6)

AR 2y, 2 W G T 24, 25 H

65.
- ‘M% 3ﬂ'{zl, Z2, zs, Z4"EC, a9

RTPERLN 570 SEHE ' iz a )
(a) arg ——lj=arg 2
\Z2 \Z4 )
(z | I _
(b) arg 1)¢arg Z3
\%2 \Z4

() arglzizy)=arg (2554)

() mﬁ%aﬁgqﬁ

GG.ﬁmWﬁﬁmﬁFﬁﬂTm

?ﬂ?ﬂ% L

(a) mm;tmw

b) v w0 e e &

(c) Wﬁ%ﬂtm:@m

@ f, %ﬁmmﬁ

[P.T.O.




67..

A- point - has- two \simultanedys

L .velocmes—ll _metres. per sec
* towards the east, and 10 metres
' per sec at an angle of 60° north

69.

70.

/14

of . east. Find a thlrd velocity
which when .applied’ t__o\ it will
keep the point at rest. -

(@ V331 m/s =
(b) ﬁm/s
(c) V221 m/s

(d) None of the above

.f--«.; .
a

. Four forces P 2P 3P qnd 4P act
along the sides of a square taken

in order. Thexr resultant is
ISR A v
(@) 242 P

(b) 42 P
@ JioP =

(d) None of the above « -

jismxdxand j’: sinxdx are
(a) convefgent

(b) divergent . . .

(c) oscillatory -

If y=x", then y, is:
(a) n -

M) n+1
Q) -1

(dl n

71

If ‘4, B are” ‘the roots Fof

X +px+q=0 and y, 6 are the

S *Q"'roafs of X2+ px Ty 'I‘J then

‘oc“—t_a -5

”ﬁ:Y ﬁbsm*
is equal to )
(a) 1 e

m) -1 SR

72.

73.

() Re (zs)

q+r

ptr .

gt
@ 4=

L 2T

Ifz= 1,‘-t+_-‘cos2—3n’~+ islh-é—, then

(@ Re (z5)='—‘/2§-»

() Imz®°)=

(@ Im(z )=

wh«,

The hexadecimal number FF is
equivalent . to the decimal
number ‘

(@) 4080
(b) 625
(c) 552
(d) 255




ﬁa%m aéﬂ% il
lltﬂ?{ﬂﬁﬁom@m:?aﬁww

a-.m B TR T 10 AR TR Yo

mmawmﬁmwa.

fg R

(a) “J33T s ]ﬁo“

| (b) JsTltﬁo/ﬁO :

68.

(¢} 22T o /Ao = |
(d) “ﬁ?ﬁﬁﬁﬁémﬂ

VY }

9% ® P, 2P, 3Paen4pqaa=faﬁ

T € 93 oft R el A R

wh g, o 5% TRt

(@ 2J2 P

69.

(c)J“‘P‘

(@) Wﬁﬁﬂﬁiqﬁ

I s1nxdxm r smxdx’g

(@) mﬁmﬁ |

(b) ol

€ dA

(d) aqéﬁﬁﬁaﬁéqiﬁ Loy ?

/14

(@) In

(b) In+1
© n-1 o
(d) n SRR o PO SV

35

- 71, A w2 wt-pxi*q:ao%ﬁ‘{ﬂ

a, B@mx A PX-r=0%q

a-y o-3
’1?'7,8% ?ﬁﬁ B«-—,ﬁ%

o ;_ R
(b) -1

@ 4T

72. fe z = 1+cosz—31t-f£smf%£, o

2

(c) Im(z5)=:

(d) Im(z%) =

‘hm amzrﬁ §on FF am LN
qoai® §

(@) 4080

(b) 625

(c) 552

(d) 255

73.

[P. T.O.




74, "1 MB is’ eqmva}ent Ho v b0

(d) 220 bytes B TR UE L R

(b) 210 pytes’
(c) 2% bytes
(d) 28 bytes

75. What are the diffefent numbers

‘(d) ‘Seven "

of computer generatmns?
(a) Four R

b Five -

(c) Six °

76- (—i)—i is eq:l‘lal:‘to = i;; ii.‘k\:

(a) e(21t—l)n .
(b) e(21t+1)n .
(C) e(4n -1)(r/2)

(d) e*n+ 1)(#/?)

77. Maximum value of (})* is

/14

@e o
(b) e°
(c) e% :

(@ &

s

(B? -2D+8)y=10sinx .

(@) e*{Acos2x+ Bsin2x)
' +sinx+2cos x

(b) e*(Acos2x# Bsin2x):
it sin X +cos x

{c) e’* (Acos 2x + B sin2x)
' TE RE ,*ff;,:; +8ifi X+ cosx

g"I"tﬂi) e~ Acos2x+B szx)

+2sinx+cosx

If A, B, C, D are four sets, then
(AXxB)N(CxD) is equal to

(@ (ANC)x(BAD)

(b) (AuB’)x(CQD)

‘k(c) (BnC)x(An D)

b(d) None of the above

1 2 2]
IfA=§’\2“ I —2 then
2 2 -

(@) AAT =1
(b) AAT 1
(c) AAT =0

"(d) None of the above




74.

1 MBRWRE

(@) 220 argm &
(b) 2'° = Eza &

(c) 20 arem &
@) 2Py

75.

76.

(o) U/
i {d) e(4n+1)(1|:‘/2)a;

77.

/14

Wmﬁ%&ﬁmm
27

(@) 3R
(b) Wi
(c) 3

(d) @

(i)™t e gy #
(a) e(21t ~ljn ¥
(b) el2n+ln. 3

G E R AR o

(a) e

(b) €°

“(c) e%

@ e

27

78.

79,

80.

(D2 -2D'+5)y = 10sinx % & 3

(@) e¥(Acos2x+ Bsin2x).
' +sinx+2cos x

b) e (A cos 2x +Bsi sin 2x)
+sinx +Co8 X

(c)  e*(Acos2x+Bsin2x)
+sin x +cos x

- (d) e*(Acos2x+Bsin2x)

+2sinx +cosx

!ﬂ%A B, C, Dauagau% @
(AxB)n(CxD)

amz’rm%

(a) (AhC)x(BmD) *H .

(b) (AuB’)x(CUD)%

(c): (BNC)x{AR D)%

(@) THE AT
'ﬂﬁA--g ‘9 1 -2 '@F o
‘o 2 |

(@) AAT=1

() AsAT w0

(d) Wﬁ*%‘ﬁé%’f

[P.T.O.




81

curl grad 9 is equal to .

,(a) 0

b} 1
c) -1

' (d) None of the above h

82.

Sum of the series
5246247244207
is

(a) - 2800

" (b) 2740

83.

84.

() 2840
(d) 2820:

O and P be any two. pom&s in the
plane of the tnangle ABC whose
centreid-is G, then

1;

(@) OA+OB+OC =3PG .

l

{b) PA+PB+PC‘ 3PG

l

(c) ‘PA+ PB¥ PC =306

(d) None of the above
26 2-3i 3+4i] .+
2+3i 3 |
3-4i

4+5i| is
4-5i 4

(a) symmetric matﬁii ‘.

(b) skew-symmetri¢ matrix

(c) Hermitian matrix i
(d) None of the above

s

/'5‘

86.

87.

#7+i717 is equalito. . i

@ 1 IR

® o
(c) -1
d 2

Which of the followmg has more
memory capacxty? '

(o) RAM

(b) ROM
() Floppy disk
(d) Hard disk

In a Boolean Algebra B, for
all x,yeB

(@ (x’ ty) =xy
(b) x+y)=xy
() x'+y’'=xy
(d) xty=xy

1.2 23 34

88. (—L —1—-—+—-}-—+ +n terms) is

equal to
‘n.

(@) n+l

, 1

) n+l
1

nin+1)

(c)

n2

(@) Ers)




81 curl gradwwﬁ?n%
(@ 0% !
b 1% o
o) -1% RSt

82,

83.

’}"ﬁ

(d) wﬁ?ﬁﬁaﬂéaﬁ

52462472
%7 AT
(a) 2800
(b) 2740
(c) 2840
(d) 2820

£ 4202

aﬁﬁg&msc%aaﬁ OSﬁIPaﬁﬁ
@ g # ok Gﬁ'gaAchgm

F= YA

(a) OA+ OB+OC,.=3;pG‘

/14

—"‘—) —— —

(b) PA+ PB+PC 3PG‘

— . — .__.) [—— ’

(c) PA+ PB+ PC =30G
(@) R AR
2i”' 2-3i
2+3i 3
3-4i

3+4i
4+5i|%
4-5i 4

(o) Wt Ao &

) vﬁwﬁmﬁ@w%

() sHaMwe
(@) g & & B

.~:17~n"1” ms‘mi

y (@) - 1 %

B 0%
() -1%

@ 2%

86.

ﬁw%r&qaﬁ%ﬁwaaﬁﬁﬁﬁw

o ¥7
fa) RAM

) ROM

87.

@ o R h

gforA éﬂw@m&ﬁ E‘ﬁ x,yeB ¥
(a)'(x'+y3'—‘xy -

(b) xt+y) =

:ui-,(_12_,,,2_1_+.3_1._+ | +n = -@J
Y

PRV

(d)_,-x+y =Xy

(a) m_

) —

n+l

Sy
nin+1) -

92 -
n
@) n+l

€

[P. T Q.




89. A particle falling under gravity

describes 80’ in a certaun second.

- How long does it take to descnbe
~ the next 112’7 '

90.

(@) 3 sec
(b) 4 sec
(c) ‘2 .sec
(d) 1 sec

Sum of cubes of the ﬁrst n
natural numbers 1s :
nin+1 (2n + 1)

6

(@)

PRI

) n?n+1)>?

~ (d) None of the above

91.

/14

sina +smB+s1n'y =

cosa+cosﬂ+cds'y 0 _

then
equal to

(@ O

(b)

N

(c)

N W N

(d)

sin?a +sin?B+sin®y is

30

92. If N
-1 2 _.1 - 1 1.1
A={6 12 6 and,B=g?:"';3 4
-2 3

. 93.

5 10 5 |3

then rank of the matrix A+ B is
equal to

@ 0
w1
(c) 2
@ 3

Decimal équ}iva.len,tliéf '(5;6'7)8;: is
(@) (567
(b) (887

(© B75h0

" () 501,

94.

The sum of (B2CES)

and
(AB2C3) is -
@) (SDFA2)
(b) (L5DFA8)s
(c) (16DFB8),

(@ (123FBT)q

-




89. aﬁimm%mﬁa@ﬁwﬁ
w80’ g T Wt R4 1127 A
:..maﬁqﬁmmﬁﬁsémmm
e
{a) 3 sec
(b)) 4 sec
[c) 2 sec
(d) 1 sec
o n de R Tt ¥ o
1 TES 2

nn+1)2n+1)
6

90.

(@)

(b) -g—(n+ Yn+2)

) n2mn+1°2

(@) 3 &

R

sino+sinf+siny = :
coso +cosf +cosy = O

®, @ sino+sin?p+siny FeF
oA gm?
(@ O

91.

(b)

N

(c)
(@)

Njw N

/14

31

92, TRk R

B I S RS | I S R G

A=|6 12 6|an B=|2 -3 4
-2 3

5 10 5] 3

& A+B Mg B AR ek T
Bte

(@ O
RS
(c) 2

(@) 3.

93. (sensérmm% |

(@) (567Tho
(b) (88710
(c) B75)0
(d) (5010
94. (B2CES);¢ 1 (AB2C3); & IFT
- |
(@) (11'5131%2)“5

(b) (L5DFA8);¢

(c) (L6DFB8);¢

(d) (123FB7)¢

[P.T.O.




95,

- Which - of:- the - followingsfis . not

performed by a NOT;gate?

it (a) Inverts its input ;. -

'96.

(b) Complements it§‘ mput
(c) Negates its input '

(d) -All of the above ..

How many b1ts are there 1n one

Nibble?

(@) 2

LA

97. The

) 6

[d) 8

degree of homogeneous
function

g g=x sm(x: )
; y

T is

/14

@ 1
) 2
(¢ 3

99,

@5

98 The fumber-of rational mz‘lntﬁt‘s
_in the:interval {0-1, 0.2)-is-equal

to.:

W) were VNS e n

R A o
(c) mﬁmte L \
T ;":r P R

(d) None of the above

nP 1P 2P  pP

¢

converges for

(a) p=1 AL
b) p<1 .
@ psl. -

(d p>1

1°Q~ j:/ 2co§‘5>’k\dx'is equal to

™
32

3n
(b) 35

5n

(c) 32

(d) 0

L3l

-}

-~




95 Nmﬁzmﬁwmﬁammﬁ
"wﬁwmwaﬁwm?

| (@) wﬂswaﬁﬁa‘rﬁam

96.

97.

/14

(b) m%sﬂgzaﬁm‘ R oo
(c) Wwﬁmm
(d) mﬁmw

w Fraw & e Re B &7

(@) 2

®) 4

(c) 6

(d) 8

(@) 1

(k) 2

fc) 3

(d) 4

33

93 m(o 1,0 2)ﬁv&ﬁumaﬁﬁ

. lw'

{c)

mﬁTﬁ

@ -

Py
(c) 3=

@) sEwiaEE

«l 11 1
L=ttt
: p>0

mmmmt?
(@ p=1

(b) p<1

€ psi

(d p>1

fglzcossxdxmmi?
™

(a) 32

3n

(b) 2

5n
32

(d) 0

[P.T.O.
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